CLASS : 10th (Secondary) Code No. 5505
Series : Sec. April/2022

Roll No. SET : A
CEIR

SCIENCE
(Physics, Chemistry and Life Science)
AT -1
PART -1
(srrafores 59 )

(Subjective Questions)

(Academic/Open)
[ = wd afrs A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g2] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

gE-0 A WA | faeia B AR (STetes) T AR (SRSl el @ QN An @ g
% U B AN IAX PR F @ 31 990 1 AFHL GOE SN 8N WX Ued Su-gRas
3 a Rar stom @ AF-IL % [0 Rl @ O qe H wHd Rar S sriq wder wea
B ¥ O ge [ TOER B 11 9eE-Ue R s

H $ G- § FA 9 U9 T AFHIL 3 S99-T & %A 30 9 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II

(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 9 and of Part-II are 30.

5505/(Set : A)/ | P.T.O.
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' (2) 5505/(Set : A)
PYI AT F A B G F 59 JoT-7H § JRT g 4 T 797 9 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 9 questions.

T97-Y5 7 qlle7 &1 3 AT 79 T4 #S TR T @ B G FI-YAH % FI-IT T [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FY J7 F T 1@ & VT & G, J97 B HHIH FaT [

Before beginning to answer a question, its Serial Number must be written.
FIC-gaeT % & § @l g/ 97 T 88

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRFT @ o e Te A ST SlaeaEdgar & @ eiv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gdereff srgr T To FIT-UA T 9T [rE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 T 37 @ [@ B Grad F T & 9797 g T el & GhET YU 59
T 7 g o qar &hHN T8 AT A3

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) &% FeT S &

All questions are compulsory.
(i) & FaT ar Jedl 7 s [[EeT F JTET 8l

Internal choice has been provided in long answer type questions.
(iii) HEF FI9T & 7% IGH QT 9T TT &

Marks of each question are indicated against it.
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(3) 5505/(Set : A)
gvs - J

SECTION - A [ Marks : 10
(e fm)
(PHYSICS)

1. fogq de) o fagq 09 & 9 g5 o @ v By arg & & S S 8 7 2

Why are coils of electric toasters and electric irons made of an alloy rather
than a pure metal ?

2. I« IO qU ST T § S o 3
Write the difference between convex mirror and concave mirror.

3. Tmited @ dieat el fagq Aex & Rer @ SR & aoe Sifm) 5
Explain principle and working of an electric motor by drawing a labelled
diagram.

HAYAT
OR
(2) URHATCTGT & STUHT T ARME & ! U IR § Jaied [Ggg o & HROT 39
o 3 @1 amReE FivT 3
What is solenoid ? Draw the magnetic field around a current carrying
solenoid.
(b) RIFHT &1 SfaoT-ged a ford 2
Write the Fleming's right-hand rule.
qug —
SECTION-B [ Marks : 10
(v )
(CHEMISTRY)

4. fqEISH SARIHAT B GRS &1 fadie AffRar @l Hie TERiNE St o 2
Define decomposition reaction. Write a balanced equation for decomposition
reaction.

5. Na,CO,.10 H,O% 9 M 9 & I ford 3

Write common name and two uses of Na,CO;.10 H,O.

5505/(Set : A)/ | P.T.O.
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(4) 5505/(Set : A)

6. (a) WAV A, A § $d Fe@dl 8 ¢ I B 3
How does atomic size vary in a period ? Explain.
(b) MY SR AR F Tt &9 dedl A HH-H AU © 7 2
In modern periodic table, which are the metals among first ten elements ?
AYAT
OR

IS (WA HEAT 7) T FRBRE (WA HEA 15) e 9ROl & §YE 15 & I &
S S dedl W gadelh A e §H BT dd aAfes ko1 fgq B SR /& ? 5
Nitrogen (atomic number 7) and Phosphorus (atomic number 15) belong to

group 15 of periodic table. Write electronic configurations of these two
elements. Which of these will be more electronegative and why ?

qle - 9
SECTION-C [ Marks : 10
(cftr for)
(LIFE SCIENCE)
7. UG H qUT S T FE & 7 2
What are the functions performed by the testis in human beings ?
8. U H e HIT H AR & FEY 3
Draw a well-labelled diagram of the longitudinal section of a flower.
9. TS & SEIHTT § BT St § St U< dRA & faRe 9o @ e 7 5

What are the different ways in which glucose is oxidized to provide energy in
various organisms ?

AYAT
OR
(2) TSl IUE & GLHN I & Q9T 6 faftEt @ Swe #Ra © 7 3
What are the methods used by plants to get rid of excretory products ?
(b) T d fwwary qwer § @y i B ? 2

What are differences between autotrophic nutrition and heterotrophic
nutrition ?
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Downloaded from cclchapter.com



CLASS : 10th (Secondary) Code No. 5505
Series : Sec. April/2022

Roll No. SET : A
CEIR

SCIENCE
(Physics, Chemistry and Life Science)

HET - 11
PART - II

(aegfrs 9%)

(Objective Questions)

(Academic/Open)
[ o= ug ool e |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT T F T [ I F 59 Je7-97 4§ FRT g 8 T°r 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o ghereff orgar U To FIT-UA T 9T @)

Candidates must write their Roll Number on the question paper.

o YF 49 1 Y 37 @ Y@ 98 GrRET #T o [ ge7-97 {7 7 & 8, qhEr & I 59
G ig o arar @w el A

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73T
General Instructions :
(i) & FoT SAvar &
All questions are compulsory.
(ii) & T o TR 7 g
Write correct answer in your answer-book.
5505/(Set : A)/ Il P.T.O.
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(2) 5505/(Set : A)

qg - A
SECTION - A [ Marks : 10
(e fom)
(PHYSICS)
1. 5l 9 # 99" 399 38 & Y HIF-H1 U0 TR Bl © ° 1
(A) GHAA (B) Sdd
(C) 3Fdq (D) IYTHT qll
Which mirror is used as rear view mirror in vehicles ?
(A) Plane (B) Convex
(C) Concave (D) All of the above
2. S F T A A B, TBLT B 1
(A) WEH | (B) ehIvH 9
(C) fagaer & (D) SUe &
The colour of sky is blue due to :
(A) Reflection (B) Scattering
(C) Dispersion (D) Refraction
3. =1 & § & Il H WREIA ¥ 787 & 7 1
(A) & AR (B) AR Fott
(C) T Sl (D) A9 § iz 7@l
Which of the following is not a conventional source of energy ?
(A) Bio-mass (B) Solar energy
(C) Wind energy (D) None of these
4. = & & fE oM@y & SIAES HA-1 § 7 1
() AR (B) awe
(C) F™ (D) I
Which of the following is SI unit of electric charge ?
(A) Ampere (B) Volt
(C) Coulomb (D) Joule

5505/(Set : A)/ I
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(3) 5505/(Set : A)

5. Frfafad & @ SIF-A1 This ddqeT 787 & ¢ 1
(A) T B) frgd
(© frg (D) &
Which of the following is not a natural resource ?
(A) Water (B) Soil
(C) Electricity (D) Wind

6. WMa 37 fRE W X g s 7 1
() fered (B) uRaerE W
(C) gl W (D) i T
The human eye forms the image of an object at its :
(A) Retina (B) Iris
(C) Pupil (D) Cornea

7. S el & SO d H-A 9 I 787 erl ¢ 1
(A) BT IR (B) @M SESEIES
(C) T STEIHIES (D) ST
Which gas is not released during the burning of fossil fuels ?
(A) Carbon monoxide (B) Carbon dioxide
(C) Sulphur dioxide (D) Oxygen

8. WRA # @M WM & foq sifterad fbe So9 &1 Ja fam o 8 7 1
(A) CNG (B) LPG
(C) iEen (D) MR I
Which fuel is maximum used for cooking in India ?
(A) CNG (B) LPG
(C) Coal (D) Gobar gas

5505/(Set : A)/ I P.T.O.
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(4) 5505/(Set : A)

9. Ug Rs ¥ & g 'R & F1 a1 8 ? 1
(A) FF ST (B) T: WM
(C) G: =R (D) SWied a4t
What is meaning of second Rin S R's ?
(A) Reduce (B) Reuse
(C) Recycle (D) All of the above
10. el <t Alifcer ofen T SH F g Sl 1
(A) T SR B (B) HE Sl &
(C) oaRafkia T © (D) T & Fi3 Tl
In any physical or chemical process, the total energy :
(A) increases (B) decreases
(C) remain unchanged (D) None of these
gug —
SECTION-B [ Marks : 08
(v o)
(CHEMISTRY)
11. THE § U S 9l 3T H AW | 1

Name the acid is present in tomatoes.

12. B9 g 3 el | e 74 Ha § ? 1

Why do we apply paint on iron articles ?

13. TF g & T [ N TR TR § 98 AR B 1

Name a non-metal which is liquid in nature.

14. % o1 & T @ @ =g | Fer S E el 1

Name a metal which is soft & can be cut with knife.

5505/(Set : A)/ I
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15.

16.

17.

18.

(5) 5505/(Set : A)

1§ 9 orHga AR HE-81 § 7

(A) BT (B) TN
(©) Si (D) g T
Choose unsaturated compound among the following :
(A) Methane (B) Ethanol
(C) Benzene (D) None

AgNO, + NaBr——> AgBr + NaNO, % ?

(A) TS AR (B) ferdiom Aftishan

(C) faferemas arfferan (D) fereemas sAfrisean

AgNO; + NaBr —— AgBr + NaNO; is a :

(A) Combination reaction (B) Decomposition reaction
(C) Double displacement reaction (D) Displacement reaction
TN | dedde 99 ©

(A) 6 B) 7

) 8 D) 9

Covalent bonds present in ethane are :
(A) 6 B) 7
€ 8 (D) 9

U 2 & & A § R 3HE w1 S B 7

(A) CH (B) CH,
(C) CH, (D) CH,
Two members of a homologous series differ by :

(A) CH (B) CH,
(C) CH, (D) CH,

5505/(Set : A)/ I
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(6) 5505/(Set : A)

qls - 9
SECTION-C [ Marks : 12
(cftr o)
(LIFE SCIENCE)
19. T H g9k T o & A ¢ Sl | © 1
(A) o g (B) w@&d ¥
(C) Soaeiq (D) REed &
The kidneys in human beings are a part of the system for :
(A) Nutrition (B) Respiration
(C) Excretion (D) Transportation
20. @A Y1 % fQ s & 1
(A) IS STZRATFAES T ST (B) Il
(C) Td 1 s (D) IRF |
The autotrophic mode of nutrition requires :
(A) Carbon dioxide and water (B) Chlorophyll
(C) Sunlight (D) All of the above
21. 71 & | &N 9a § A6 ST G R AN 78 8 ¢ 1
(A) SferE (B) TS
(C)  gpeices (D) R

Which of the following is not a part of the female reproductive system in
human beings ?

(A) Ovary (B) Uterus

(C) Vas deferens (D) Fallopian tube

5505/(Set : A)/ I
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(7) 5505/(Set
22. fr=faieg & @ 59 ae® ERT WIRETOT 999 81T & °

(A) d1g (B) S

(C) it (D) S @sf

Cross pollination is achieved by which of the following agents ?
(A) Wind (B) Water

(C) Animals (D) All of the above

23. = & § B SMER-4Ear & o & § ?

(A) HE, g T ™ (B) 99, S AT T4

(C) s{, T T el (D) 9, "l qu1 Th
Which of the following constitute a food-chain ?

(A) Grass, wheat and mango (B) Grass, goat and human
(C) Goat, cow and elephant (D) Grass, fish and goat

24. /=1 & § S9-91 T sg-Feieelg § 7

(A) 9@ (B) IH

(©) (D) e
Which of the following is a non-biodegradable substance ?
(A) Grass (B) Flower
(C) Wood (D) Plastic

25. 3 Sig N SAfed HED TS P G THED TG § g5 B e § e 3q ¥
(A)  ATHSH (B) IURH
(C) SeRIERt (D) HiEEr

- A)

1

The organisms which breakdown complex organic substances into simple

inorganic substances and mix them in the soil :

(A) Decomposers (B) Producers
(C) Herbivores (D) Carnivores
5505/(Set : A)/ I P.T.O.
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(8) 5505/(Set : A)

26. TR X H I ud q9Ed H1 B EHA T ..o &1 B 3 1
(A) T (B) Sftiaet =T
(C) difreR d= (D) THENS qH<=H
Control and coordination are the functions of the harmones and ........... in our
body.
(A) Brain (B) Reflex arc
(C) Nervous system (D) Chemical coordination

27. HER AW H G qd1 A HA-A1 o 7 1

Which is the longest part of the alimentary canal ?

28. T6Y ¥ &H-|1 [T oS & § ? 1
Which sex chromosome is present in males ?

29. A%y fHEA W Al B 7 1
(A) U (B) ®AGHIS
(C) (D) &7 & B 7
Spinal cord is protected by :
(A) Cranium (B) Vertebral column
(C) Ribs (D) None of these

30. A .......... % Y & o fauarer (faemedt) qerel H STerd 6 1
Mendal had studied a number of contrasting visible characters in ..............
plants.

5505/(Set : A)/ I
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CLASS : 10th (Secondary) Code No. 5505
Series : Sec. April/2022

Roll No. SET : B
CEIR

SCIENCE
(Physics, Chemistry and Life Science)
AT -1
PART -1
(srrafores 59 )

(Subjective Questions)

(Academic/Open)
[ = wd afrs A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g2] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

gE-0 A WA | faeia B AR (STetes) T AR (SRSl el @ QN An @ g
% U B AN IAX PR F @ 31 990 1 AFHL GOE SN 8N WX Ued Su-gRas
3 a Rar stom @ AF-IL % [0 Rl @ O qe H wHd Rar S sriq wder wea
B ¥ O ge [ TOER B 11 9eE-Ue R s

H $ G- § FA 9 U9 T AFHIL 3 S99-T & %A 30 9 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II

(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 9 and of Part-II are 30.

5505/(Set : B)/ | P.T.O.
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' (2) 5505/(Set : B)
PYI AT F A B G F 59 JoT-7H § JRT g 4 T 797 9 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 9 questions.

F97-Y3 7 qlle &1 3 AT 79 T4 #S TR T @ B G FI-YAH % FI-IT T [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FY J7 F T 1@ & VT & G, J97 B HHIH FaT [

Before beginning to answer a question, its Serial Number must be written.
FIC-gaeT % & § @l g/ 97 T 88

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRFT @ o e Te A ST SlaeaEdgar & @ eiv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gdereff srgr T To FIT-UA T 9T [rE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 T 37 @ [@ B Grad F T & 9797 g T el & GhET YU 59
T 7 g o qar &hHN T8 AT A3

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) &% FeT S &

All questions are compulsory.
(i) & FaT ar Jedl 7 s [[EeT F JTET 8l

Internal choice has been provided in long answer type questions.
(iii) HEF FI9T & 7% IGH QT 9T TT &

Marks of each question are indicated against it.

5505/(Set : B)/ |
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(3) 5505/(Set : B)

gls - A
SECTION - A [ Marks : 10
(Mo fom)

(PHYSICS)

1. (a) R @ MU 7 SRWE & ? Ch aRATe § gaifed fREg o) & wRer Sae
e & ) TR AR 3
What is solenoid ? Draw the magnetic field around a current carrying
solenoid.

(b) RIET 1 fOT-ged | ford 2
Write the Fleming's right-hand rule.
AYAT
OR
iR TR Eiae frdl fgq e & Rier ©d SRl & aoe St 5
Explain principle and working of an electric motor by drawing a labelled
diagram.

2. fagq AwX o1 g 99 & 9 IS O H e My ag $ & e S 8 ? 2

Why are coils of electric toasters and electric irons made of an alloy rather
than a pure metal ?

3. IS U qUT Sradd U H ST} forg 3
Write the difference between convex mirror and concave mirror.

g - §
SECTION - B [ Marks : 10
(vamE fast)
(CHEMISTRY)

4. RN (TH] dedr 7) T HRGRE (WA €edr 15) 3Ed arell & &8 15 & 7 ol
S ANl J@l B FAdele [ e 3 Bi-|1 a1 T faEq e iR @ ? 5

Nitrogen (atomic number 7) and Phosphorus (atomic number 15) belong to
group 15 of periodic table. Write electronic configurations of these two
elements. Which of these will be more electronegative and why ?

YqT
OR

5505/(Set : B)/ | P.T.O.
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(4) 5505/(Set : B)

(2) AT A&, ofad # &4 Feqdl & ! 9o B 3
How does atomic size vary in a period ? Explain.
(b) oMgfE oTad ARl ¥ ved <9 qwl § HH-H gy ¥ ? 2
In modern periodic table, which are the metals among first ten elements ?
5. fEeH SAichan i G €1 fdie ARk @i Gfe TEEiNe AT o 2
Define decomposition reaction. Write a balanced equation for decomposition
reaction.
6. Na,CO,.10 H,O% d¥= 99 9 § ST gl 3
Write common name and two uses of Na,CO;.10 H,O.
gig - 9
SECTION-C [ Marks : 10
(e fomr)
(LIFE SCIENCE)
7. (a) SN IUE § BEHRI U & ¢ ey B R @ SwE #xd § 7 3
What are the methods used by plants to get rid of excretory products ?
(b) TFQS qen foueas Qe § wy SfaX ' 7 2

What are differences between autotrophic nutrition and heterotrophic
nutrition ?

e
OR
HST F SAFAET § B Sfal F ot 9 A & AR 9y @ g v 5

What are the different ways in which glucose is oxidized to provide energy in
various organisms ?

8. AMA H U $ T HA T ? 2
What are the functions performed by the testis in human beings ?
9. TN & o= PIC F AW o= =Y 3

Draw a well-labelled diagram of the longitudinal section of a flower.

5505/(Set : B)/ |
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CLASS : 10th (Secondary) Code No. 5505
Series : Sec. April/2022

Roll No. SET : B
CEIR

SCIENCE
(Physics, Chemistry and Life Science)

HET - 11
PART - II

(aegfrs 9%)

(Objective Questions)

(Academic/Open)
[ o= ug ool e |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT T F T [ I F 59 Je7-97 4§ FRT g 8 T°r 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o ghereff orgar U To FIT-UA T 9T @)

Candidates must write their Roll Number on the question paper.

o YF 49 1 Y 37 @ Y@ 98 GrRET #T o [ ge7-97 {7 7 & 8, qhEr & I 59
G ig o arar @w el A

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73T
General Instructions :
(i) & FoT SAvar &
All questions are compulsory.
(ii) & T o TR 7 g
Write correct answer in your answer-book.
5505/(Set : B)/ I P.T.O.
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(2)
gUE - &

SECTION - A
(s =)
(PHYSICS)

1. % Wi FUoT & a6l Bodr 20 dio 31 S6& Bihd g4 &4 B ?

The radius of curvature of a spherical mirror is 20 cm. What is its focal length ?

2. AR A9 B BEd g0 § GRacH A ST @
(A) gaell BRI (B) ueel &I
(C) giteued & (D) uRaiRe &

The change in focal length of an eye lens is caused be the action of the :

5505/(Set : B)

[ Marks : 10

1

(A) Pupil (B) Ciliary muscles
(C) Retina (D) Iris
3. UH & Fagdl aon F Qe Ao Fed &l
(A) IgHEA TR (B) faggor
(©) (D) T
The splitting of light into its component colours is called ............. .
(A) Atmospheric refraction (B) Dispersion
(C) Spectrum (D) Scattering

4. fIEQ o9 # S. L. 9 8§

(A) & (B) W
(C) HTH (D) dre
The S. I. unit of electric charge is :

(A) Ohm (B) Ampere
(C) Coulomb (D) Volt

5505/(Set : B)/ I

Downloaded from cclchapter.com



(3) 5505/(Set : B)

5. FHfaRiad ¥ @ SE-91 Sg-HE SHolt HAd H e 78 & 7

(A)  HIFT
(C) whel

Which of the following is not an example of a bio-mass energy source ?

(A) Coal
(C) Wood

(B) s 9
(D) YT Sl

(B) Gobar-gas

(D) Nuclear energy

6. 91 O 59 I § I9@1 I B 7

(A) e B) R

(C) fafemt (D) T

Which element is used for making solar cell ?

(A) Iron (B) Zinc

(C) Silicon (D) Copper
7. W= H B9-d T @ F e g 7

(A) AT (B) ETEZIST

() SRS (D) (4) F (B) &

Which gas is present in bio-gas ?

(A) Methane (B) Hydrogen

(C) Oxygen (D) Both (A) and (B)
8. W&d & & U -8 ot el § 7

() ffost (B) e

(C) if¥prE (D) &

Which energy is possessed by flowing water ?

(A) Potential (B) Kinetic

(C) Nuclear (D) Heat

5505/(Set : B)/ I
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(4) 5505/(Set : B)

9. el sy fFm T WM & ? 1
Tehri dam is built on which river ?
10. T @HE QST H ARE To9 IR f6F a9 F gaam o ? 1
(A) 1980 (B) 1985
(C) 2005 (D) 2016
The Ganga cleanliness scheme was started for the first time in the year ......... .
(A) 1980 (B) 1985
(C) 2005 (D) 2016
qie — §
SECTION-B [ Marks : 08
(Tara fasm)
(CHEMISTRY)

11. F€203 +2Al—)A1203 + 2Fe

I G T s R gk @ ' ? 1
(A) GINT STffRaT (B) faae stfrfsear
(C) ToremasT Afishan (D) fefaeemae siffean

F€203 +2Al—— AZQOS + 2Fe

The above reaction is an example of a :

(A) Combination reaction (B) Decomposition reaction
(C) Displacement reaction (D) Double displacement reaction
12. STET T oo AR B 1
Respiration is an ............. reactions.
13. FOR 50 & 95 A & ¢ hg Afeaq Al &1 Iwa fear o & ? 1

Name the sodium compound which is used for softening hard water ?

5505/(Set : B)/ I
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(5) 5505/(Set : B)

14. B 91 FR & q9 W &G G F I A 5 7 1
(A)  Ag (B) Hg
(C) Au D) Zn

Which metal is found in liquid at room temperature ?

(A) Ag (B) Hg
(C) Au (D) Zn

15. NFHIREH H sAdi~eD [Oawrd 8 ¢ 1
A) 2,8, 1 (B) 2,8,2
C) 2,8,3 (D) 2,8,5

Electronic configuration of Magnesium is :

@) 2,8, 1 B) 2,8, 2
€) 2,8,3 (D) 2,8,5

16. 3 WHSA & &9 Fae & Th FH Bl AR B &R G A G L FEAw
2l ]

Bonds which are formed by the sharing of an electron pair between two atoms
are known as ................. .

17. 0O & TEENS G 1
(A) C:He (B) CsHs
(C) CsHiz (D) CsHio

Chemical formula of propane is :

(A) C:He (B) CsHs
(C) CsHiz (D) CsHio
18. FHET WANSA & §F Fad [&-oTdg § I3 Fa & ANH 1 Fead & ¢ 1

Compounds of carbon which are linked by only double bonds between the
carbon atoms are called .............. .

5505/(Set : B)/ I P.T.O.
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(6) 5505/(Set : B)

gus - 9
SECTION-C [ Marks : 12
(s fomrT)
(LIFE SCIENCE)
19. U G & oI TS B 1
(A) I B) T & T
(C) e SEAFRES (D) S |+
The autotrophic mode of nutrition requires :
(A) Chlorophyll (B) Sunlight
(C) Carbon dioxide (D) All of the above
20. ..ocoreenn. I BRR ARl & S SRR & g @ X B fafe=T offtt 9 @ s &1 o

............... are the vessels which carry blood away from the heart to various
organs of the body.

21. f=fartad & | feee aa digi § Sgaw s &R il © 7 1
(A) AT (B) o oFw
(C) S (D) SiferdisT
Which of the following is transported through xylem tissue in plants ?
(A) Food (B) Amino acid
(C) Water (D) Oxygen
22. X & FAGHEE AT UG Bl TG .ovvvnnnnnn. & T FH B 1

The vertebral column or backbone which protects the .............. .

5505/(Set : B)/ I
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23. st BT § QAT TER B .. Bl & S SThl TR T Fae &Mt &l Bl
EESIECI] 1
Muscle cell have special ............. that change both their shape and their

arrangement in the cell.

24. WEATMET ¥ e s Feiaied & | B By @ &ar e ? 1
(A) G (B) fa@=
(C) wgEsT (D) g
Which of the following mode is involved in asexual reproduction in Spirogyra ?
(A) Fragmentation (B) Binary fission
(C) Multiple fission (D) Budding

25. 7= & @ &N 9Ma & A&l S dF F G 78 8 1
(A) SfeeE (B) IS
(C) fEuafesit (D)  Jshaieshl

Which of the following is not a part of the female reproductive system in
human beings ?

(A) Ovary (B) Uterus
(C) Fallopian tube (D) Vas deferens

26. X AR AET § e Sie oA B © ? 1
How many pair of chromosomes are in male and female ?

27. e S A Sl § U AR B S & e ey B § ? 1
(A) T B)
(C) d (D) IR

How many copies of a gene for the same trait are there in sexually reproducing
organisms ?

(A) One (B) Two
(C) Three (D) Four
5505/(Set : B)/ I P.T.O.
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28. RN HF-8 T &R W AC & ? 1
(A) gIH (B) f&i™
(©) T (D) =gd
The herbivores come at which trophic level ?
(A) First (B) Second
(C) Third (D) Fourth

29. & FBM aRdsl & T Ry 1
Name two artificial ecosystems.

30. I=H Foll W G ffRROr St STl (O2) N fEfed T ... QAT S
2l ]

The higher energy UV radiations split apart some molecular oxygen into

5505/(Set : B)/ I
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CLASS : 10th (Secondary) Code No. 5505
Series : Sec. April/2022

Roll No. SET : C
CEIR

SCIENCE
(Physics, Chemistry and Life Science)
AT -1
PART -1
(srrafores 59 )

(Subjective Questions)

(Academic/Open)
[ = wd afrs A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g2] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

gE-0 A WA | faeia B AR (STetes) T AR (SRSl el @ QN An @ g
% U B AN IAX PR F @ 31 990 1 AFHL GOE SN 8N WX Ued Su-gRas
3 a Rar stom @ AF-IL % [0 Rl @ O qe H wHd Rar S sriq wder wea
B ¥ O ge [ TOER B 11 9eE-Ue R s

H $ G- § FA 9 U9 T AFHIL 3 S99-T & %A 30 9 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II

(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 9 and of Part-II are 30.

5505/(Set : C)/ | P.T.O.
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' (2) 5505/(Set : C)
Y ST F T 5 I % 59 J97-99 § FRT gF 4 a6 797 9 81

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 9 questions.

F97-Y3 7 qlle &1 3 AT 79 T4 #S TR T @ B G FI-YAH % FI-IT T [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FY J7 F T 1@ & VT & G, J97 B HHIH FaT [

Before beginning to answer a question, its Serial Number must be written.
FIC-gaeT % & § @l g/ 97 T 88

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRFT @ o e Te A ST SlaeaEdgar & @ eiv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gdereff srgr T To FIT-UA T 9T [rE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 T 37 @ [@ B Grad F T & 9797 g T el & GhET YU 59
T 7 g o qar &hHN T8 AT A3

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) &% FeT S &

All questions are compulsory.
(i) & FaT ar Jedl 7 s [[EeT F JTET 8l

Internal choice has been provided in long answer type questions.
(iii) HEF FI9T & 7% IGH G790 TT &

Marks of each question are indicated against it.

5505/(Set : C)/ |
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(3) 5505/(Set : C)
gug — JH

SECTION - A [ Marks : 10
(Mo fom)
(PHYSICS)

1. fogq o o faEq 09 & e IS o1g H oren My oy & S S o 7 2

Why are coils of electric toasters and electric irons made of an alloy rather
than a pure metal ?

2. I U qAT STade U H ST} forg 3

Write the difference between convex mirror and concave mirror.

3. (a) URHAICER & oTUeH F1 ARHE & ? T IR § daried fagq o)1 & RT3

e A% @ TR AR 3
What is solenoid ? Draw the magnetic field around a current carrying
solenoid.

(b) TRIFHRT &1 Sfaor-ged a| ford 2
Write the Fleming's right-hand rule.
AYAT
OR
iR SR Eiee Rl fgq e & Riera @@ SRl & aoe St 5
Explain principle and working of an electric motor by drawing a labelled
diagram.
qig - §
SECTION - B [ Marks : 10
(TarE fas)
(CHEMISTRY)

4. fqEISF SAIhAT 1 GRS &1 fadior AfhaT @l Hfe TERiNE Sk o 2
Define decomposition reaction. Write a balanced equation for decomposition
reaction.

5. Na,CO,.10 H,O% 9 M 9 & I ford 3

Write common name and two uses of Na,CO,;.10 H,O.

5505/(Set : C)/ | P.T.O.
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6. EgoM (A edr 7) T HRGRE (WA €& 15) 3Ed arell & &8 15 & 7 ol
S AN T B gl o e g M- e St o fagq e oY @ ? 5
Nitrogen (atomic number 7) and Phosphorus (atomic number 15) belong to

group 15 of periodic table. Write electronic configurations of these two
elements. Which of these will be more electronegative and why ?

HAYAT
OR
(2) XA AEE, oad # &4 Seqdl & ! 9o B 3
How does atomic size vary in a period ? Explain.
(b) SMYFRE ofad ARl & Ted &9 el § HH-§ agu © 7 2
In modern periodic table, which are the metals among first ten elements ?
gig -
SECTION-C [ Marks : 10
(cftr fom)
(LIFE SCIENCE)
7. WG H qUT & T FE & 7 2
What are the functions performed by the testis in human beings ?
8. TS &l <= PIe PN AHIHT T ST 3
Draw a well-labelled diagram of the longitudinal section of a flower.
9. (a) SN IUE H BEHN I & f¢ Uy B Rl &1 SwE & § 7 3
What are the methods used by plants to get rid of excretory products ?
(b) TS qe fewart qer § A R g ? 2

What are differences between autotrophic nutrition and heterotrophic
nutrition ?

3TeE
OR
H F SAFRET A B Sfal d ot o A & A 9y @ g v 5

What are the different ways in which glucose is oxidized to provide energy in
various organisms ?

5505/(Set : C)/ |
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CLASS : 10th (Secondary) Code No. 5505
Series : Sec. April/2022

Roll No. SET : C
CEIR

SCIENCE
(Physics, Chemistry and Life Science)

HET - 11
PART - II

(aegfrs 9%)

(Objective Questions)

(Academic/Open)
[ o= ug ool e |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT T F T [ I F 59 Je7-97 4§ FRT g 8 T°r 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o ghereff orgar U To FIT-UA T 9T @)

Candidates must write their Roll Number on the question paper.

o YF 49 1 Y 37 @ Y@ 98 GrRET #T o [ ge7-97 {7 7 & 8, qhEr & I 59
G ig o arar @w el A

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73T
General Instructions :
(i) & FoT SAvar &
All questions are compulsory.
(ii) & T o TR 7 g
Write correct answer in your answer-book.
5505/(Set : C)/ I P.T.O.
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(2)
gUE - &

SECTION - A
(s =)
(PHYSICS)

1. U% Mo 47 abar Bear 10 dfto 31 gwa Bibd o @ Bnlr ?

The radius of curvature of a spherical mirror is 10 cm. What is its focal length ?

2. A 95 59 90 W el a5y # ufifs &9 0 § 96 ©

(A) gt (B) Freved
(C) it (D) R
The human eye forms the image of an object at its :
(A) Pupil (B) Retina
(C) Cornea (D) Iris
3. TR IHET D .o % PRV feHfead S e 2l
(A) IgHEA TR (B) SaIUie
(©) fagraer (D) T
The twinkling of a star is due to ............ of light.
(A) Atmospheric refraction (B) Scattering
(C) Dispersion (D) Spectrum
4. fOEQ o)1 &1 S.I. W B
(A) (B) W
(©) T (D) awe
The S. I. unit of electric current is :
(A) Ohm (B) Ampere
(C) Coulomb (D) Volt

5505/(Set : C)/ I
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(3) 5505/(Set : C)

5. Th A A @ T fhel foge S S 1 ST Hehdl § 7
(A) 0.1W B) 0.5W
(C) 0.7W (D) 1.0W
How many electricity can be produced by a solar cell ?
(A) 0.1W (B) 0.5W
(C) 0.7W D) 1.0W

6. I & Haifts qem & 2§

1

(A)  HeF (B) e SZFAES
(©) eERH (D)
Maximum content of Biogas is :
(A) Methane (B) Carbon dioxide
(C) Hydrogen (D) Ethane
7. Th AU g qEA Fott fage St & uRafia & S B
In a thermal power station ............. energy is converted into electric energy.

8. T I U HH & [T 29 QR I a9 Hl IUANT (e BT 7&f #T gaa ?

(A) gu A foT B) W =

(C) Tt aret fast (D) 9 T R=
A solar water heater cannot be used to get hot water on :
(A) A sunny day (B) A hot day
(C) A cloudy day (D) A windy day

9. I JME W SR IET © :
(A) AT SERT (B) ©F & M
(C) IR IET (D) (A)@ (B) &
5505/(Set : C)/ Il
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The industry based on forest products is :

(A) Paper industry (B) Sports equipment
(C) Plastic industry (D) Both (A) and (B)
10. ‘Fudh =i fHad d@sfem @ ? 1
(A) FHgA | (B) <l |
(C) af & (D) 9®i 9§
The 'Chipko Andolan' is associated with :
(A) Turtles (B) Tomatoes
(C) Forest (D) Tigers
qug —
SECTION-B [ Marks : 08
(v o)
(CHEMISTRY)

11. CaO(s)+ H,0(l)——> Ca(OH),(aq)

I & T AR e T @ 7 7 1
(A) I SRR (B) T Sfsispan
(C) foreemasT SAiHishaT (D) fafaemgs arffshan

CaO(s) + HyO(l) —— Ca(OH);,(aq)

The above reaction is an example of a :
(A) Combination reaction

(B) Decomposition reaction

(C) Displacement reaction

(D) Double displacement reaction

12. foEee affer ... arfferr & faodia & 1

Decomposition reactions are opposite to ............. reactions.

5505/(Set : C)/ I
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13. CaOCl, A 1 yafid 7F &1 8 7 1

What is the common name of the compound CaOCl, ?

14. =1 4 SF-0 org 9 § SEFl | HE ST EEl & 7 1
(A) Ca (B) Zn
(C) Ag (D) Na

Which metal can be cut by knife easily ?

(A) Ca (B) Zn
(C) Ag (D) Na

15. BRI & Sdei™dh O & ¢ 1
A) 2,8,1 (B) 2, 8,2
C) 2,8,4 (D) 2,8,5

Electronic configuration of Phosphorus is :
A) 2,8,1 B) 2,8,2
(€) 2,8,4 (D) 2,8,5

16. Zﬁﬁiﬁiﬁi@fmﬁﬁ%ﬁqﬂwﬁﬁaﬁm@mﬁ@ﬁwumquw*H*;Les
gferenie I &, T oo FEd o

A series of compounds in which the same functional group substitutes for
hydrogen in a carbon chain is called a ................. .

17. 3 F TEENS G B 1
(A) C2He (B) CsHs
(C) CsHio (D) GCsHi2

Chemical formula of butane is :

(A) CHs (B) CsHs
(C) CsHio (D) CsHi2
5505/(Set : C)/ I P.T.O.

Downloaded from cclchapter.com



(6) 5505/(Set : C)
18. FHEY TAIST & d9 Had Uha €Y § I HET $ ANEH T Hodld © ! 1

Compounds of carbon which are linked by only single bond between the
carbon atoms are called .............. .

s - 9
SECTION-C [ Marks : 12
(cftr o)
(LIFE SCIENCE)
19. URY § TEA9 SOER ® 1
(A) 9IS @ qeA (B) S &l I8
(C) SRS &1 a8 (D) 3T & FF T
The xylem in plants are responsible for :
(A) Transport of food (B) Transport of water
(C) Transport of oxygen (D) None of these
20. .eeennnn. ffr=r offf | SRR T &% 90| ged 7 @l Bl 1
............... collect the blood from different organs and bring it back to the
heart
21. f=fofed & @ g gerd #1 Sox AREl s wEe 78 e § 7 1
(&) e B) faftaw
(C) SaST (D) ERIFIND

Which one of the following substance is not secreted by gastric glands ?
(A) Pepsin (B) Tripsin

(C) Mucus (D) Hydrochloric acid

5505/(Set : C)/ I
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22. TR IRX ¥ 0T 0§ 99T B B oovvnnnnnn. T e & R 1
Control and coordination are the functions of the .............. and .............. in
our bodies.

23. IR Bl FAGH-IS T UG Bl BEN vvvevvnnnnnnn B W A B 1

The vertebral column or backbone which protects the ............... .

24, TEIEIH § Sdife 99 Meeieg 8§ 9 g Ry g e g ? 1
A) TsH (B) sg@sH
(C) HgeH (D) SR g«

Which of the following mode is involved in asexual reproduction in

Plasmodium ?

(A) Fragmentation (B) Multiple fission
(C) Budding (D) All of the above
25. WA 7 B ¢ ¢ 1
(A) TR (B) =™
(C) sy (D) URFTRYT

The anther contains :

(A) Sepals (B) Ovules
(C) Carpel (D) Pollen grains
26. 1Y & T T U o A Al & e q yeifad & Hehal 2 1

Each trait of a child can be influenced by both paternal and maternal ........... .

5505/(Set : C)/ I P.T.O.
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27. B d TR B © 1
(A) X (B) Y
(C) XY (D) XX
Female have ............... chromosomes.
(A) X (B) Y
(C) XY (D) XX
28. &g ST HIF-H 96 &R W A & ? 1
(A)  HeH (B) f&i
(€ T (D) =gd
Secondary consumers come at which trophic level ?
(A) First (B) Second
(C) Third (D) Fourth
29. f=fafad § | HF-G1 A&k qRas 78 © ¢ 1
(A) o (B) ki
(©) & (D) &
Which of the following is not a natural ecosystem ?
(A) Forest (B) Pond
(C) Lake (D) Crop field
30. ieoeieirnn W G A AN A G R & geEl B gR Se w8l 1

................. layer shields the surface of earth from ultraviolet radiation from
the sun.

5505/(Set : C)/ I
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CLASS : 10th (Secondary) Code No. 5505
Series : Sec. April/2022

Roll No. SET : D
CEIR

SCIENCE
(Physics, Chemistry and Life Science)
AT -1
PART -1
(srrafores 59 )

(Subjective Questions)

(Academic/Open)
[ = wd afrs A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g2] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

gE-0 A WA | faeia B AR (STetes) T AR (SRSl el @ QN An @ g
% U B AN IAX PR F @ 31 990 1 AFHL GOE SN 8N WX Ued Su-gRas
3 a Rar stom @ AF-IL % [0 Rl @ O qe H wHd Rar S sriq wder wea
B ¥ O ge [ TOER B 11 9eE-Ue R s

H $ G- § FA 9 U9 T AFHIL 3 S99-T & %A 30 9 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II

(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 9 and of Part-II are 30.

5505/(Set : D)/ | P.T.O.
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' (2) 5505/(Set : D)
PYI AT F A B G F 59 JoT-7H § JRT g 4 T 797 9 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 9 questions.

T97-Y5 7 qlle7 &1 3 AT 79 T4 #S TR T @ B G FI-YAH % FI-IT T [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FY J7 F T 1@ & VT & G, J97 B HHIH FaT [

Before beginning to answer a question, its Serial Number must be written.
FIC-gaeT % & § @l g/ 97 T 88

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRFT @ o e Te A ST SlaeaEdgar & @ eiv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gdereff srgr T To FIT-UA T 9T [rE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 T 37 @ [@ B Grad F T & 9797 g T el & GhET YU 59
T 7 g o qar &hHN T8 AT A3

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) &% FeT S &

All questions are compulsory.
(i) & FaT ar Jedl 7 s [[EeT F JTET 8l

Internal choice has been provided in long answer type questions.
(iii) HEF FI9T & 7% IGH QT 9T TT &

Marks of each question are indicated against it.

5505/(Set : D)/ |
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gls - A
SECTION - A [ Marks : 10
(Mo fom)

(PHYSICS)

1. (o) IR @ U Fr SRwE & ? O aRATe § gaifed fEg o) & wRer SO
e & ) TR AR 3
What is solenoid ? Draw the magnetic field around a current carrying
solenoid.

(b) RIET 1 fOT-ged | ford 2
Write the Fleming's right-hand rule.
AYAT
OR
iR TR Eiae frdl fgq e & Rier ©d SRl & aoe St 5
Explain principle and working of an electric motor by drawing a labelled
diagram.

2. fagq AwX o1 g 99 & 9 IS O H e My ag $ & e S 8 ? 2

Why are coils of electric toasters and electric irons made of an alloy rather
than a pure metal ?

3. Il T qUT ST UOT F TR} foreh 3
Write the difference between convex mirror and concave mirror.
gug —
SECTION-B [ Marks : 10
(vare )
(CHEMISTRY)

4. TGS (A WEAT 7) T FRARE (RHT] @& 15) Ed aRell & @9 15 & ad o
S S dedl H gadelh A e §H BT dd aAfes ko1 fgq 8 SR & ? 5
Nitrogen (atomic number 7) and Phosphorus (atomic number 15) belong to

group 15 of periodic table. Write electronic configurations of these two
elements. Which of these will be more electronegative and why ?

YqT
OR

5505/(Set : D)/ | P.T.O.
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(2) AT A&, ofad # &4 Feqdl & ! 9o B 3
How does atomic size vary in a period ? Explain.
(b) oMgfE oTad ARl ¥ ved <9 qwl § HH-H gy ¥ ? 2
In modern periodic table, which are the metals among first ten elements ?
5. fEeH SAichan i G €1 fdie ARk @i Gfe TEEiNe AT o 2
Define decomposition reaction. Write a balanced equation for decomposition
reaction.
6. Na,CO,.10 H,O% d¥= 99 9 § ST gl 3
Write common name and two uses of Na,CO;.10 H,O.
gig - 9
SECTION-C [ Marks : 10
(e fomr)
(LIFE SCIENCE)
7. (a) SN IUE § BEHRI UM & ¢ ey B Rl @ SwE #xd § 7 3
What are the methods used by plants to get rid of excretory products ?
(b) TFQS qer faueas Qe § wy ofaw ' 7 2

What are differences between autotrophic nutrition and heterotrophic
nutrition ?

STeE
OR
HS F SAFAET A B Sfal d ot o A & A 9y @ g v 5

What are the different ways in which glucose is oxidized to provide energy in
various organisms ?

8. WM H qUT S T FE & 7 2
What are the functions performed by the testis in human beings ?
9. Y9 F YR FHIT H THib B Y 3

Draw a well-labelled diagram of the longitudinal section of a flower.

5505/(Set : D)/ |
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CLASS : 10th (Secondary) Code No. 5505
Series : Sec. April/2022

Roll No. SET : D
CEIR

SCIENCE
(Physics, Chemistry and Life Science)

HET - 11
PART - II

(aegfrs 9%)

(Objective Questions)

(Academic/Open)
[ o= ug ool e |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT T F T [ I F 59 Je7-97 4§ FRT g 8 T°r 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o ghereff orgar U To FIT-UA T 9T @)

Candidates must write their Roll Number on the question paper.

o YF 49 1 Y 37 @ Y@ 98 GrRET #T o [ ge7-97 {7 7 & 8, qhEr & I 59
G ig o arar @w el A

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73T
General Instructions :
(i) & FoT SAvar &
All questions are compulsory.
(ii) & T o TR 7 g
Write correct answer in your answer-book.
5505/(Set : D)/ I P.T.O.
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g - A
SECTION - A [ Marks : 10
(i fsTT)

(PHYSICS)

1. OF T o7 & ahen Browr 15 Ao 81 3HH ®ikd U 1 8l ? 1
The radius of curvature of a spherical mirror is 15 cm. What is its focal
length ?

2. MM gfe & 996k & [T geuse S99 & ofedaH gl il o, A 1
(A) 25 Ho (B) 2.5 ddlo
(C) 2.5 o (D) 25 GHlo
The least distance of distinct vision for a young adult with normal vision is
about :

(A) 25m (B) 2.5cm
(C) 2.5m (D) 25 cm

3. THA D oo, % HROT A N T A S Bl ol 1
(A)  ST9gde (B) YU
(©) fE (D) ¥FH
.............. of light causes the blue colour of sky.

(A) Refraction (B) Scattering
(C) Dispersion (D) Spectrum

4. V@R & S. 1. 991% & : 1
(A) o (B) ufmR
©) ™ (D) &

The S. I. unit of Potential difference is :
(A) Ohm (B) Ampere
(C) Coulomb (D) Volt
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5. R il T AR TH GI= B TH [ 1
Name one device based on solar energy.

6. M § B Hel F IURS Bl 78 ¢ 7 1
(A) AR FHat (B) St g
(C) SHaredt Fe (D) a9 feege
Which of the following is not a conventional source of energy ?
(A) Solar Energy (B) Hydro Power
(C) Fossil Fuels (D) Thermal Power

7. WS & S W IEEND Bl giRafcd 8 S & 1
(A) FHF e | (B) ST il A
(C) (A) T (B) &l | (D) ™ & & T
During the burning of a candle, the chemical energy converts into :
(A) Heat Energy (B) Light Energy
(C) Both (A) and (B) (D) None of these

8. o M # H-4 9 7&F &l B ? 1
(A) e (B) BRI
(C) TEFNH TTHES (D) Ao
Which gas is not present in Bio-gas ?
(A) Methane (B) Hydrogen
(C) Hydrogen Sulphide (D) Oxygen

- S o J S IO g HRe B 1
(A) @ (B) Fw
(C) 8™ (D) U=
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.............. is ancient water harvesting structures in Rajasthan.

(A) Khadins (B) Kulhs
(C) Bandharas (D) Pynes
10, o % I 8d T B 1
(A) EEZISH (B) SATerdIoH
(C) PR SEETFRES (D) @S
.............. is a green-house gas.
(A) Hydrogen (B) Oxygen
(C) Carbon dioxide (D) Nitrogen
gug - §
SECTION-B [ Marks : 08
(v o)
(CHEMISTRY)
11. CaCOs(s) —2N 5 CaO(s)+ CO,(g)
ST & T AR R TR @ B 7 1
(A) IS AR (B) foadis atfetisean
(C) faemesT arf¥fshan (D) fafaeemem srfwfshar

CaCO,(s) — 1 cao(s) + CO,(g)

The above reaction is an example of a :
(A) Combination Reaction (B) Decomposition Reaction

(C) Displacement Reaction (D) Double Displacement Reaction

12. 3 Affhad R iR & S TNl &1 SMEH-UGH &l 8, S8 ..ocveeennne. Fed B 1

Those reactions in which there is an exchange of ions between the reactants
are called .............. .
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13. SfpT USEX, AT el & ..o &1 fysrr B 1
Baking powder, which is a mixture of baking soda and ............. .

14. -8 G5 B SR & [T HAMGT § FABL @1 AT o 7 1
(A) (B) =
(C) wieTw (D) e
Which metal is kept immersed in Kerosene for storing ?
(A) Mercury (B) Silver
(C) Sodium (D) Iron

15. UgitEe &1 i fG=E @ 1
(A) 2,8,1 B) 2,8,2
) 2,8,3 D) 2,8,5

Electronic configuration of Aluminium is :

A) 2,8,1 B) 2,8,2
) 2,8,3 D) 2,8,5

16. U¥ STHJC SRS N TF a1 1w e STEY Bld & .oveeveeee. FEA & 1
The unsaturated hydrocarbons which contain one or more double bonds are
called .............. .

17. U & TEENS G 8 1
(A)  CyHg (B) C3Hg
(C) CsHy (D) C4Hig

Chemical formula of Pentane is :

(A) CyHg (B) C3Hg
(C) CsHy, (D) C4Hip
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18. FHEY & GIANTHR & ¢ 1
(A) 2 (B) 3
) 4 (D) 5

Valency of carbon is :

(A) 2 (B) 3
€ 4 (D) 5
g - 9
SECTION-C [ Marks : 12
(st fosrT)
(LIFE SCIENCE)
19. 99 ¥ g9k % o5 & A & o Geiad © 1
(A) @ (B) 99T
(C) uRaes (D) e
The Kidneys in human beings are a part of the system for :
(A) Respiration (B) Nutrition
(C) Transportation (D) Excretion
20. .o SAERA & T @ AN &l 1

.............. is the longest part of the alimentary canal.

21. Frfafed & § - 9fka oAl § 99 @@ @RS q@en H JuRgErta § e el
1

g7
(A) e B) I&
(C)  TeBTST-FLAT (D) aTIEST
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Which of the following process helps in the upward transportation of water
and minerals in plants ?

(A) Respiration (B) Growth
(C) Photosynthesis (D) Transpiration

22, AR ¥ AET &l M B & & ¢ 1
Which part of human body protects the spinal cord ?

23. BAR SR | I T T A B .............. q°T BN H Bl 1
Control and Coordination are the functions of the .............. and harmones in
our bodies.

24. I # oFcifieh S Frfoieaa & @ fra fafr & 2 8 7 1
A) G (B) &=
(C) fag=A (D) TF
Which of the following mode is involved in asexual reproduction in Amoeba ?
(A) Fragmentation (B) Multiple fission
(C) Binary fission (D) Budding

25. fefated § & 9 Siig & S & & R W B8 & 999 ged G el & 7 1

(A) T (B) woHIsaH
(C) s (D) e~
Which of the following organisms have a whip like structure at one end of the
cell ?
(A) Spirogyra (B) Plasmodium
(C) Amoeba (D) Leishmania

26. ..o oM 39 9 & FeRer & 2, Res e/ R Jeer gt Rsaasaa & e
ERINC I 1
The rule of .............. determine the process by which various traits and

characteristics are reliably inherited.
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27.

28.

29.

30.

5505/(Set :

T8 H e o B Bl

(A) X (B) Y
(C) XY (D) XX
Male have .............. chromosomes.

A) X B) Y
(C) XY (D) XX
frfifed & & 39 SR =g &1 T #d § ?

(A) H¥, HSWl a9 g6l
(C) 919, B4 a1 AFG

(B) =M, T AT MW
(D) 99, 98l o M

Which of the following constitue a food chain ?

(A) Grass, Fish and Goat

(C) Grass, Goat and Human

(B) Grass, Wheat and Mango
(D) Grass, Fish and Cow

=g & @ g O W)X @ SRR Gefad § 7

(A) TIH (B) f&drm

(C) T (D) =gy
Herbivores belongs to which of the following trophic level ?
(A) First (B) Second

(C) Third (D) Fourth

frfoiaa & @ fped CFCs &7 SUART fhar o 2 7

(A) IPEeTREX
(C) (A) 3R (B) A ¥

In which of the following CFCs is used ?

(A) Refrigerator
(C) Both (A) and (B)

5505/(Set : D)/ I

(B) SARHIHA
(D) 3T & 13 &l

(B) Fire Extinguisher
(D) None of these
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